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Introduction
The following was agreed in RAN1#91 [1]: 
	Agreement:
L1-RSRP and resource indicators for beam management are mapped to the first CSI Part when reported on long PUCCH or PUSCH 



For the beam reporting channel, we have the following agreement:
	Agreement:
· Support the following reporting types for beam mgmt. on the above channels
· For Periodic, support long PUCCH and short PUCCH
· Semi-persistent – support all channels
· Aperiodic – support PUSCH and short PUCCH



This contribution addresses the issue of collision between an aperiodic CSI report and an aperiodic beam report where the beam report comprises L1-RSRP and beam resource indicator (e.g. CRI or SSBRI). This contribution is a resubmission of R1-1804361.
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[bookmark: _Ref446598642]Collision between aperiodic beam and CSI reports
If an aperiodic beam report collides with an aperiodic CSI report, then they are reported according to one of the following alternatives:
· Alt 1: Either beam report or CSI report is dropped.
· Alt 2: Beam and CSI reports are multiplexed and reported. 
Since dropping either an aperiodic beam report or an aperiodic CSI report is undesired, Alt 2 is preferable. Now, since aperiodic CSI on PUSCH is reported in two parts (CSI part 1 and CSI part 2), one of the following alternatives can be used to multiplex an aperiodic beam report with an aperiodic CSI report.
· Alt 2a: Beam report is multiplexed with CSI part 1.
· Alt 2b: Beam report is multiplexed with CSI part 2. Since CSI part 2 can be transmitted partially based on a priority order by partitioning CSI part 2 bits into multiple segments, the beam report can be included (Option 0) in the highest priority segment (Q0 for WB CSI part 2). Alternatively, the beam report is included separately either before or after (Option 1 and 2) the segment for WB CSI part 2. An illustration is shown in Figure 1. Between the three options, Option 0 is preferable since a beam report is WB, hence can be lumped/multiplexed with WB CSI part 2.
Between Alt 2a and Alt 2b, Alt 2b is preferable in our view since multiplexing beam report with CSI part 1 would change the payload of CSI part 1, which should be avoided (since the payload of CSI part 1 should be fixed). 


Figure 1: beam + partial CSI part 2 reporting
Proposal: If aperiodic beam report collides with aperiodic CSI report, then 
· Beam report is multiplexed with CSI part 2; 
· Beam report is included in the highest priority segment (WB CSI for K CSI reports) in case of partial CSI part 2 reporting.
Conclusions
In this contribution, the following proposals are made:
· If aperiodic beam report collides with aperiodic CSI report, then 
· Beam report is multiplexed with CSI part 2; 
· Beam report is included in the highest priority segment (WB CSI for K CSI reports) in case of partial CSI part 2 reporting. 

Text Proposal (38.214)
…
[bookmark: _Toc500966101]5.2.5	Priority rules for CSI reports
CSI reports are associated with a priority value  where




-	 for aperiodic CSI reports to be carried on PUSCH  for semi-persistent CSI reports to be carried on PUSCH,  for semi-persistent CSI reports to be carried on PUCCH and  for periodic CSI reports to be carried on PUCCH.


-	 for CSI reports carrying L1-RSRP and  for CSI reports not carrying L1-RSRP
-	c is the serving cell index and  is the value of the higher layer parameter maxNrofServingCells

-	s is the reportConfigID and is the value of the higher layer parameter maxNrofCSI-ReportConfigurations.

A first CSI report is said to have priority over second CSI report if the associated  value is lower for the first report than for the second report.
Two CSI reports are said to collide if the time occupancy of the physical channels scheduled to carry the CSI reports overlap in at least one OFDM symbol and are transmitted on the same carrier. When a UE is configured to transmit two colliding CSI reports, the following rules apply (for CSI reports transmitted on PUSCH, as described in Subclause 5.2.3; for CSI reports transmitted on PUCCH, as described in Subclause 5.2.4): 

-	The CSI report with higher  value shall not be sent by the UE.


-	If a CSI report with  (an aperiodic CSI report) collides with another CSI report with  (an aperiodic beam report), then the two CSI reports shall be multiplexed and sent by the UE. When the aperiodic CSI report comprises two parts (Part 1 and Part 2), then the highest priority segment of the Part 2 CSI is multiplexed with the aperiodic beam report.
If a semi-persistent CSI report to be carried on PUSCH collides with PUSCH data transmission, the CSI report shall not be transmitted by the UE. 
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